Whirlpool WGD8500SR0 02 - CABINET PARTS

CABINET PARTS

8181283 3

Whirlpool Residential Whirlpool WGD8500SR0 Dryer Parts Parts Diagram 02 - CABINET PARTS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 8317340 Cover, Terminal Block
2 3390814 90767 ﬁ:;%wf 38:;) §g3/8 HeX Washer
3 8533974 4331106 Screw, No.10-32 X 7/16
4 8565048 Panel, Side
5 3394881 279782 Switch-Lid
7 8565054 Panel, Side
8 3392100 49621 Feet-Leveling
" 279810 Foot-Optional
e Cang; et touning
10 3387374 Spring, Idler
11 3389420 Retainer-Idler 1/4-20 X 1/16
12 697750 W10470674 Dryer Exhaust Kit
13 3388672 279640 Pulley-Idr
14 3978776 Bracket, Gas Pipe Switch

15 8066120 Lever, Door Switch



http://www.pwslaundry.com/c-508605-residential-whirlpool-wgd8500sr0-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10421568-whirlpool-8317340-dryer-cover-terminal-block.html
http://www.pwslaundry.com/i-10418726-whirlpool-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10422529-whirlpool-4331106-washer-dryer-screw-no-10-32-x-7-16.html
http://www.pwslaundry.com/i-10419434-whirlpool-8565048-dryer-panel-side.html
http://www.pwslaundry.com/i-10421862-whirlpool-279782-washer-dryer-switch-lid.html
http://www.pwslaundry.com/i-10419429-whirlpool-8565054-dryer-panel-side.html
http://www.pwslaundry.com/i-10422580-whirlpool-49621-dryer-feet-leveling.html
http://www.pwslaundry.com/i-10420187-whirlpool-279810-dryer-foot-optional.html
http://www.pwslaundry.com/i-10418756-whirlpool-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-10418911-whirlpool-3387374-washer-dryer-spring-idler.html
http://www.pwslaundry.com/i-10418429-whirlpool-3389420-washer-dryer-retainer-idler-1-4-20-x-1-16.html
http://www.pwslaundry.com/i-10421430-whirlpool-w10470674-dryer-dryer-exhaust-kit.html
http://www.pwslaundry.com/i-10421853-whirlpool-279640-washer-dryer-pulley-idr.html
http://www.pwslaundry.com/i-10418881-whirlpool-3978776-dryer-bracket-gas-pipe-switch.html
http://www.pwslaundry.com/i-10419853-whirlpool-8066120-washer-dryer-lever-door-switch.html

18 233520 Washer, Thrust

20 690997 Washer, Thrust

22 8580015 Ramp, Door

27 8538263

N>
~
©
~
o
~

Motor-Drve

29 8578220 Pulley, Motor

31 8529757 Bracket, Burner

33 3401401 3401402 Cord, Power

35 693995 Screw, Hex Head

37 8563750 Exhaust Pipe

39 3388674 W10118756 Idler Bracket

42 98129 Screw, 6-20 X 1 1/16

44 3387242 Seal, Front Panel

Screw, For Mtg. Service

46 688983 487240 Capacitor

(BROKEN BELT BASE,

50 8565046 CABINET SWITCH)

52 8565122 Strike, Door

56 8563727 Bracket, Control

Screw, 8A X 3/8 HeX Washer

59 8533971 90767 Head Tapping

62 8565059 Panel, Rear

" BLANK Not Available Optional Parts Not Included


http://www.pwslaundry.com/i-10418518-whirlpool-3394081-washer-dryer-wire-broken-belt-switch.html
http://www.pwslaundry.com/i-10418603-whirlpool-233520-washer-dryer-washer-thrust.html
http://www.pwslaundry.com/i-10420782-whirlpool-w10318609-dryer-switch-assembly-door.html
http://www.pwslaundry.com/i-10418592-whirlpool-690997-washer-dryer-washer-thrust.html
http://www.pwslaundry.com/i-10421624-whirlpool-3394331-dryer-plate-cover.html
http://www.pwslaundry.com/i-10421392-whirlpool-8580015-dryer-ramp-door.html
http://www.pwslaundry.com/i-10419413-whirlpool-8572546-washer-dryer-odor-remover.html
http://www.pwslaundry.com/i-10421863-whirlpool-279787-dryer-motor-drve.html
http://www.pwslaundry.com/i-10418850-whirlpool-3398948-washer-dryer-wire-jumper.html
http://www.pwslaundry.com/i-10419691-whirlpool-8578220-dryer-pulley-motor.html
http://www.pwslaundry.com/i-10422586-whirlpool-661570-washer-dryer-belt.html
http://www.pwslaundry.com/i-10417164-whirlpool-8529757-dryer-bracket-burner.html
http://www.pwslaundry.com/i-10418467-whirlpool-3387118-dryer-bracket-motor.html
http://www.pwslaundry.com/i-10422467-whirlpool-3401402-dryer-cord-power.html
http://www.pwslaundry.com/i-10420188-whirlpool-49026-dryer-4-90-elbow.html
http://www.pwslaundry.com/i-10418556-whirlpool-693995-washer-dryer-screw-hex-head.html
http://www.pwslaundry.com/i-10418930-whirlpool-8563747-dryer-exhaust-pipe-medium-pipe.html
http://www.pwslaundry.com/i-10418705-whirlpool-8563750-dryer-exhaust-pipe.html
http://www.pwslaundry.com/i-10421636-whirlpool-8563749-dryer-exhaust-pipe.html
http://www.pwslaundry.com/i-10416994-whirlpool-w10118756-dryer-idler-bracket.html
http://www.pwslaundry.com/i-10418672-whirlpool-8519459-dryer-clip-toe-panel.html
http://www.pwslaundry.com/i-10418387-whirlpool-98129-washer-dryer-screw-6-20-x-1-1-16.html
http://www.pwslaundry.com/i-10421111-whirlpool-488729-washer-dryer-screw.html
http://www.pwslaundry.com/i-10419122-whirlpool-3387242-washer-dryer-seal-front-panel.html
http://www.pwslaundry.com/i-10427755-whirlpool-308685-washer-dryer-side-trim.html
http://www.pwslaundry.com/i-10422544-whirlpool-487240-washer-dryer-screw-for-mtg-service-capacitor.html
http://www.pwslaundry.com/i-10419718-whirlpool-8565043-dryer-plug-strip-front-panel.html
http://www.pwslaundry.com/i-10421166-whirlpool-8565046-dryer-broken-belt-base-cabinet-switch.html
http://www.pwslaundry.com/i-10425726-whirlpool-8571818-dryer-front-panel.html
http://www.pwslaundry.com/i-10420244-whirlpool-8565122-dryer-strike-door.html
http://www.pwslaundry.com/i-10427755-whirlpool-308685-washer-dryer-side-trim.html
http://www.pwslaundry.com/i-10419884-whirlpool-8563727-dryer-bracket-control.html
http://www.pwslaundry.com/i-10419675-whirlpool-w10111606-dryer-board-control.html
http://www.pwslaundry.com/i-10418726-whirlpool-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10419673-whirlpool-8540621-dryer-panel-toe.html
http://www.pwslaundry.com/i-10419408-whirlpool-8565059-dryer-panel-rear.html
http://www.pwslaundry.com/i-10422596-whirlpool-681414-washer-dryer-screw-10ab-x-1-2.html
http://www.pwslaundry.com/i-10421430-whirlpool-w10470674-dryer-dryer-exhaust-kit.html

	Whirlpool WGD8500SR0 02 - CABINET PARTS

